EARAROBEEIERT — 2 N— IBISH —F

201478168 (k) 9mEM4H

m )5y RC3 #¥7%3mL ‘ KMzl w8 ‘ [BEME] - | 4 (B) 14000 B
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= # 5 | KIUEE 1:31.5 3-3-3-2 | 40.2| — 1 455 | EIRIESRE (EEHG)
118110 DAT1—=Ib 54.0 (=) (+4) | ARG
R:Z2g—%>7%> B:a-7t74I2R i A K]
B 5 | KBAEE 1:32.6 4-4-3-3 |41.3| — 3 504 | KA (k)
2@ 7|/ MV 54.0 @) o) | LA
:d—IWKR7Ya—)b B:7>YATp=— BRT7— L
. ¢ 4 5 | HFPFE 1:32.9 1=1-1-1 | 42.4| — 2 494 | FHAEE (FEH)
3 3 r7*l’ S XIN— b 56.0 (1 3/4) -2) ;ﬁéﬂafﬁ
L:O—YXA> x4 B: 754 hrEa— EvilLy RT7—L
s 3 | BAHE= 1:32.9 5-5-5-5 |40.8| — 7 478 | BHERCS (EA)
4189 Ij__:\—\—_ 54.0 (74%) (+3) i} Z
R:Zx7)—>rke—A— B:ANLECREY B 152 Rt
. # 5 | Afi—H 1:33.5 2-2-2-3 | 42.8| — 4 484 |/ (FERR)
5 4| 7 T7IVARZ YT 56.0 3 1/2) o %:E%ﬁﬂ
RixAvavf—5— B:744Ubv—3 =Eiie
2 g _ # 3 | BARBE 1:34.4 6-6-7-7 | 41.7| — 6 457 | LEZER (EM)
6l7/8|EYIT14—F~ 55.0 (5) () | REKE
R:HYI5TLIF b B:F—TNZ— X =7 )85
o it 4 | REIRE 1:34.7 8-8-6-6 |42.0| — 5 520 | EEAEZ (EMA)
7 6| AE-—FTF * 56.0 (2) @5 | ) 7O—8=T5-y-7
R:¥ysr>vUx £:a7% # BE
N . t> 8 | BED 1:35.3 9-9-8-8 |41.7| — 8 456 | B)II¥EA (ER)
8 o | =AREARTI—ILR - 0 (31/2) ) FAKE
R:zAEAZ—I B:ZACEAELT— ek BEF
S = REETLT :36. —-7-9- . — FEZ (Fh)
ol 11 FA—TLGH 55 % 3 54_05 1(366)3 7-7-9-9 | 42.9 9 ig? s
L:TITRAFTEIN BT — Ei=Yie]
4 3 | ElliE— 1:37.4 10-10-10-10{ 43.1 | — 10 | 400 |=FEFE (k)
10[5]5| Y PLT—/— 4.0 ™ 3 |WEEEL
XM= TFR—L B9 IRTRLAZX H—L—- T vIN> - Ty—LBRR
® 1—F—@EBIERL
1T=7r= 3,4,10,7,9,8,1,6,2,5
2a=5F= 3,4,10,7,9,8,1,6,2,5
30—4— 3,4,(7,10),9,6,8,2,1,5
43—+ — 3,10, (4,7),9,6,8,2,1,5
[ N5
B 10 1909 714K 7-10 280M e E 7-8 680 JEE 3-7-10 440M
B B 10 1004 3-10 150H B = 7-10 790 EE 10-7-3 2,280
7 120 3-7 260M B H 10-7 1,080
8 1009

ABICOVWTRDTEEERROODE. TR LIV,




